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Tekst 5  Beachfront housing for $215 per month? Only if you’re 
      a state worker 

 
Twee van de onderstaande vijf zinnen (a, b, c, d en e) zijn uit de brieven 
weggelaten (zie 11-1 en 11-2). 

2p 11 Geef voor elke brief aan welke zin daar hoort. 
Noteer de letter van de zin achter het nummer op het antwoordblad. 
Let op: er blijven drie zinnen over. 
a Do you think the people who work at auto parts stores pay the same 

price for equipment that you do? 
b Places of outstanding beauty are often spoilt by architectural eyesores 

built for rich people with poor taste. 
c This may also explain why I have been unable to get a reservation on 

a cottage at Crystal Cove State Park this past decade. 
d What I would like to know is why the government has deliberately 

released news of these shady practices to the public. 
e Why does The Times ignore the fact that it costs public money to 

maintain rental housing? 
 
 

Tekst 6  A new book spells out the magic of language 
 

1p 12 What is the main point made about humans in paragraphs 1-2? 
A They are capable of creating an endless array of syntactic sequences. 
B They are clearly predisposed to communicating with their fellow 

beings. 
C They fail to make optimal use of the many faculties their brains offer. 
D They need a lifetime to map out the general rules that govern speech. 
E They seem to grasp most grammar rules without any formal 

instruction. 
 

1p 13 Which of the following fits the gap in paragraph 4? 
A Consequently 
B Meanwhile 
C Obviously 
D Paradoxically 
 
‘This ‘recursive’ structure is key to syntax.’ (paragraph 4) 

1p 14 Which of the following describes the capacity for ‘recursive’ structure? 
A contextually attributing a new meaning to words 
B mentally reordering and merging words into bigger units 
C methodically repeating words in order to memorise them 
D strategically separating words like beads on a string 
 
 


